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namn: Datum: Poéng:
1003 = —1x10% =
263,8 x 100 = 3% 10% =
1 x 10* = 1 x 100D =
6x 1002 = 709,2 x 1073 =
8 x 1001 = 9x 100 =
2 x 100Y = 1002 =
835,6x 100D = 507,9 x 10* =
1009 = 7% 100 =
1079 = 855,5x 1072 =
1009 = 1009 =
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Negativa exponenter pa 10

namn: Datum: Poing:
107 = 0.001 ~1 % 10% = -100
263, 8 x 107 = 0.2638 3 x 10% = 300
1 x 107 = 100 ~-1x 10" =-0.1
6 x 1072 = 0.06 709,2 x 107 = 0.7092
8x 107" =0.8 9 x 107 = 0.009
—2 x 107 = -0.0002 1072 = 0.01
835,6 x 100" = 83.56 507,9 x 10> = 50790
107 = 0.0001 2 x 107 = 0.0002
107 = 0.001 855,5 x 10 = 8.555
1077 = 0.1 10 = 0.0001
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